7~ \ SPECIFICATION SHEET

molex@”‘ FineAdjust Applicator
\_/ 63865-7000
REVISION A
SCOPE
Terminal SeriesNo WireSze Insulation Diameter Strip Length
Awg (mm3) mm (in) mm (in)
35022-* ** 18-20 (0.82-0.52) 300 Max (.118 Max) 3.00-3.50 (.118-138)

DEFINITION OF TERMS

REND UP

TWISTING

BEND DOWN

HEIGHT

The above termind drawing is a generic termina representation. It is not an image of aterminal
lisged in the scope

Pagelof 4
UNCONTROLLED COPY

Doc NOo 63865-/099 - Release Date: 02-20-0 Revison A

~_i_. AA AN AN

- Revision




Doc NO 63386

~_i_. AA AN AN

SPECIFICATIONS

Terminal Series No. Bdlmouth Cut-Off Tab Max. Conductor Brush
mm (in) mm (in) mm (in)
35022-**** 0.20-0.50 (.008-.020) 0.10-0.20 (.004-.008) 0.00-1.00 (.000-.039)
Termind Series No. Bend Up Bend Down Twid Roll Punch Width mm
Degree Degree Conductor Insulation
35022-**+ 3 3 4 8 1.90 2.80
The above specifications ar e guidelines to an optimum crimp.
CONDITIONS
After crimping, the conductor profile should measure the following.
Termind Series Wire Sze Crimp Height Pull Force Min
Awg (mm?) mm (in) N (Ibs)
35922-* ** 18 (082 110120 | (.043-.047) 88.2 (19.8)
35022-* *+ 20 (052 100110 | (.039-.043) 58.8 (132
Pull Force measured with no influence from the insulation crimp
Page2of 4
UNCONTROLLED COPY
Revison A - Revision

release Date: 02-



PARTSLIST

Item Number | Order Number | Eng Number Description Qty | KitPart
1 634441905 634441905 Conductor Punch 1 Y
2 634451942 634451942 Conductor Anvil 1 Y
3 634462810 634462810 Insulation Punch 1 Y
4 634452811 634452811 Insulation Anvil 1 Y
5 634430002 634430002 Cut-Off Plunger 1 Y
6 634430012 634430012 Front Plunger Retainer 1 Y
7 11-24-1067 4996-4 Cut-Off Plunger Spring 1
8 634433160 634433160 Front Plunger Striker 1
9 634430021 634430021 Lower Tooling Key 1
10 634436011 634436011 Rear Cover 1
11 11-18-4083 60707-8 Front Cover 1
12 634432410 634432410 Anvil Mount 1
13 634434005 634434005 Wire Stop 1
14 634430009 634430009 Scrap Chute 1
15 638004900 638004900 FineAdjust Applicator 1
70 638657070 638657070 Tool Kit (All "Y" Items) 0
NOTES

1. We recommend an extra perishable tooling kit be maintained a your facility.

2. Veify tooling dignment by manualy cycling the press and Applicator before
crimping under power.

3. Sugs, Terminas, Dirt and Oil should be kept clear of work area

4. This Applicator should only be used in a press with ashut height of 135.8 mm (5.346").
Tooling damage could result at alower setting.

5.** CAUTION** To prevent injury never operate this Applicator without the guarding
supplied with the press or wire processing machine in place. Reference the press or wire
processing manufacturer’ s ingruction manudl.

6. Wear safety glasses at al times.

Page 3 of 4
UNCONTROLLED COPY

Doc No 63865-/099 - Release Date: 02-20-0 Revison A - Revision

~_i_. AA AN AN



Doc NO 63386

—. A~ AR AN

ASSEMBLY DRAWING

The drawing below is a generic drawing representation. Some detall may not be shown.
The FineAdjust applicator assembly and partslist can be found in the FineAdjust manud.

*R-32 X Y4 LG
BeHCuSe \W d
MA X @ LG.

B.H.C.S. (2)

M3 X 6 LG~
S.HC.S. (2)

M4 X 10 LG.
B.H.C.S.

| NG
(&) a,g
M4 X 20 LG, a2k
S.H.C.S. %/
M4 X 50 LG. S.HC.S
SHC.S.
Page 4 of 4
UNCONTROLLED COPY

-/099 - Reaease Date: 02-20-0 Revision A

- Revision



T Life

Hu1Boe NapTHEPCTBO

000 “/1aiipINeKTPOHUKC” “LifeElectronics” LLC

MHH 7805602321 K 780501001 P/C 40702810122510004610 ®AKb "ABCO/IOT BAHK" (3A0) 6 2.CaHkm-Ilemep6bypee K/C 30101810900000000703 EUK 044030703

KomnaHus «Life Electronics» 3aHumaemcsi nocmaskamu 351€KmMpPOHHbIX KOMITOHEHMO8 UMIOPMHO20 U
omedyecmeeHHo20 rpouseodcmea om npoudeodumernel u co ckrnados KpyrHbix ducmpubbomopos Esporibi,
AMepuku u Asuu.

C koHua 2013 200a KoMraHusi akmueHo pacwiupsiem fuHelKy MocmagoK KOMIOHEHMO8 0 HarnpaeneHuo
KoakcuarbHbIl kabesb, Keapuesbie 2eHepamopbl U KOHOeHCcamopbi (KepaMuyeckue, nieHoYHbIe,
3neKmposiumuyeckue), 3a cuyém 3akntoyeHuss ducmpubbromopcKux 002060p08

Mbi1 npednasaem:

o KoHKypeHmocnocobHbie UeHbl U CKUOKU MOCMOSIHHbIM KITUeHmMam.

e CrieyuarsnbHbie ycrio8usi 07151 TOCMOSIHHbIX KITUEHIMO8.

e [lod6op aHarnoeos.

lMocmaeky KomMrnoHeHmMo8 8 ftobbix obbemax, y0oernemeopstouUx eawum MompebHoCMSsM.

lpuemnembie cpoku nocmasku, 803MOXHa yCKOPEeHHasi mMocmaska.
Locmaeky mosapa & ritobyto moyky Poccuu u cmpaH CHI™.
KomrinekcHytro nocmasky.

Pabomy no npoekmam u rnocmasky obpa3syos.

®opmuposaHue ckiada nod 3akaszyuka.

Cepmucgbukambl coomeemcmeus Ha rnocmassnseMyro npooyKyuUto (Mo XenaHu KueHma).
o TecmuposaHue nocmasnsemMou npodyKyuu.

e [locmasKy KOMMOHEHMOo8, mMpebyruux 806HHYIO U KOCMUYECKYH MPUEMKY.

e  BxodHoli KOHMposib Ka4yecmea.

e  Hanu4yue cepmugpukama I1SO.

B cocmaee Hawel komnaHuu opeaHu3oeaH KoHcmpykmopckuli omderst, npu3eaHHbIl MomMozamb
paspabomyukam, U UHXEHepaM.

KoHcmpykmopckuli omOen nomoaaem ocyujecmseums:

Pezaucmpauuro npoekma y npousgooumersisi KOMIOHEHMOS.

TexHu4eckyro no0depXKy rnpoekma.

Bawumy om cHaMuUs KOMroHeHma ¢ npoussoocmea.

OueHKy cmoumocmu fpoeKkma ro KOMIOHeHmam.

U3ezomoerneHue mecmosol rnnambl MOHMaX U ryckoHanadoyHbie pabomeil.

lattis % A g nncen TP intessil, Panasons (T U170 ATEL AMDIN EEEs

0KI ﬂ_[ [ SANYD Quaoww RENESAS  SIEMENS SHARP _ ’[:E”"—:,l
g Sy, [IE moxm s U AT €N [qaL

BOURNME

NS 7, Citwbond DALLAS Meare  Gllegns (inteD e | ™ RONM
International . . — .
..-nﬂm.n._,,.,_ w@ TosHiga ZETEX 'niemalofa Amphenol élantec uichicon FU]ITSU

Viccn 5, e Y Sice . @ su@ N [BTOKO

Ten: +7 (812) 336 43 04 (MHO20KaHANbHbI)
Email: org@lifeelectronics.ru

www.lifeelectronics.ru


mailto:org@lifeelectronics.ru
http://lifeelectronics.ru/

